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public class Shop{}
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public class Customer{}
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public class Good{}
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public class Repository{}
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public class Order{}
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public class Discount{}
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public Shop(String name);
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public void addCustomer(Customer c);

public Customer[] getCustomers();
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public void addRepository(Repository r);

public Repository[] getRepositories();

public int getIncome();
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public void setIncome(int income);
public void addGood(Good g);
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public void increamentGood(Good g, int amount);
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public Good[] getGoods();
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public void addDiscount(Discount d, Customer c);

public HashMap<Good, Integer> getItemsSold();
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public void addDiscount(Discount discount);
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public Good(String name, int ID, int price);
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public int getID();
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public int getPrice();
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public String getName();
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public Repository(int id, int capacity);
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public int getID();
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public int getCapacity();
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public int getFreeCapacity();
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public HashMap<Good,Integer> getGoods();
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public void addGood(Good g, int amount);

public void removeGood(Good g, int amount);
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public Customer(String name, int ID);
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public String getName();
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public int getID();
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public int getBalance();

public void setBalance(int amount);
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public void addOrder(Order order);
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public Order[] getTotalOrders();
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public Order[] getPendingOrders();

public Order[] getSubmittedOrders();

public void submitOder(Order order);
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public Order(int ID, Customer c);
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public int getID()
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public String getStatus();
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public void setStatus (String status);



public void addItem (Good good, int amount);
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public void removeItem (Good good);
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public HashMap<Good, Integer> getItems();
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public int calculatePrice();
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public void addDiscount(Discount discount);
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public Discount(int ID, int percent);
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public void setOrder (Order order);
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public Order getOrder();
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public int getPercentage();
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